Set 2
1. A 78 green haired man was admitted to the emergency room with a temperature of 99.4 and feeling very fatigued. The nurse noted his stage of infection was.

A.
Prodromal Stage

B.
Convalescece Stage

C.
Indirect Stage

D.
Illness Stage

2. A female passenger was traveling on a train next to a male sleeping passenger with a WBC count of 30,000 and serum hepatitis. Which Standard Precaution would the female passenger take? 

A.
Use of face mask as an airborne precaution

B.
Move to a different seat to avoid

C.
Avoid patient’s toothbrush

D.
Wear gloves when shaking hands

3. Which is the difference between Tier 1 and Tier 2 precautions? 

A.
All patients should have Tier 1 precaution used as a standard with Tier 2 used in isolation requiring conditions. 

B.
Patients with airborne precautions require only Tier 2 as this supports a biologically safe environment.

C.
Using Tier 1 precautions will keep CDIF from transmitting.

D.
Portal of entry requires direct or indirect self-care practices.

4. As a student nurse, what is the best intervention to break the chain of infection at the point of Mode of Transportation? 

A.
Don’t open drainage system unless necessary

B.
Provide host with better nutrition, fluids and antibiotics

C.
Clean items by boiling for at least 15 minutes

D.
Don’t raise Foley bag higher than bladder so it won't contaminate bladder.

5. Which medication will cause a reduced afterload for cardiovascular heart failure? 

A.
Diuretics

B.
ACE inhibitors

C.
Inotropic agent such as digoxin

D.
Vasodilator
